EARAZROREIERT — 2 N—XBISY —F 20177818 (£) 7EMAE1H

Vel 35— 488 Y5R35 EREE R
[A&£] 1 7% :200,000 ~ 237%:46,000 ™ ~ 37#&:18,000 M ~ 437#&:10,000 @ 5% :6,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6| FTIWNTANYY 3 giﬁ%gﬁ 1:(3_0).6 1-1-1-1 | 40.0| — 2 514 %El?ﬁﬁ'ﬁ (#£8)
QAT ESAT BSLT—A LT 40 X2 5 s
4 3 | ABER 1:30.7 8-7-5-2 |38.8| — 1 457 |MBE (EH)
2|7|7|Y=vxaY _ 6.0 (172 Cn | EEE
L:A—R7ITF4<% B:hYTIL—2 NS
o =T a1, 54— 5| — ARG (1£3)
alglg | Koumey N # 3 | WOl 1(341)4 6-5-4-4 | 39.5 3 ;417) ﬁ*%ﬁ ®
RTRIA YTy IR BALLTIo PERS
. — = =32 : -9-6- — ITFEX (E8)
4 NEEDAE SR 3 | N8 (11.311/.27) 9-9-6-6 | 39.6 4 51_324) maag
RF4—TTUSLF BAAITEU-—X KBS
. _ 3 .31, 99— 9| — hEFE ((£E)
5189 Ea—717/lL%A i3 54.0 1(33/14)8 rezs |09 ° (4_122) RIN—iF -
RiTH AT Ly h— BUTITSA7 B Thit
B 3 | EDEX 1:32.3 3-3-3-5 |40.9| — 6 440 | MRZ (ER)
EH 3| WRH 54.0 21/2) (o) |BEA
x> inqo— B:vHH—x% patiikie)
i —— . 60~ — REE (1£H)
Jlsls|vavrzs # o3 | I 1.(3733.7 5-6-9-8 | 41.3 8 (4_655) E
RTvIST—L BiYUYE AHtE
S 4 3 | REEZ 1:34.3 7-8-8-7 |41.9| — 7 455 | =/HEA (£EH)
Eﬂ 4 o= 54.0 3) w7 | BAXT
LTHLFUS = B Rl T—F =R BE
< . = . AlIEY 35, -4-7- o0 - EAARBEE (EE)
ol1l1l3vsreFaTe # o3 | ANl 1&5)0 4-4-7-9 | 43.0 9 (4_633) BARH "
RTH AT by h— BRAMTFUSA Y HO gk
@ 1 —JF—@EBIEfr
13—7+— 6,9,3,1,5,8,4,7,2
23=7F= 6,9,3,1,8,5,7,4,2
3a—+— 6,9,3,8,7,2,1,4,5
41—F— 6,7,9,8,3,2,4,5,1
[ N5
B 6 530M 794K 6-7 200M e E 6-7 340M JEE 6-7-8 530
# B 6 1304 6-8 400 B E 6-7 420 EE 6-7-8 2,950/
7 100 7-8 250M B E 6-7 1,160/
8 1809

ABICOVWTRDTEEERROODE. TR LIV,



